03090_A NHE XA FMPUREE |, HERROLEF

7= miiEA

MR

FAYEREH LM ENBERTNE LI XEB. REFREKREEST
EBHIFNE, SHNEEMHEBELROEFINE M. HIEFBIR
DREHERLE , BERERBBRIRS,
HEAIZENROEFRERE , Bh,

RS
MFHAE
RLYEFNEETNHERA S HEIN,

TEHEMAE

IRYER 1.4305,

HET4H 1.4305,

RIBTAEBAREYN PPALEF (TSR ) -

A

MEIRAS
BUEFALFLE,
YHLTE, HENELLE,

THEMAE
TBRAER,

HEMHLITELE , =6,

ot

RAL7021 B RAL3020 RBLA B F,

BETHE :
RIFIEC 216 , BT HEBEEZSHN 160 °C,
ERIEREERSHN 250 °C,

=N
BRERERE,
ERTEENA,
ERBIEINRE

BEEK
RRER,

R4 -

B FEER 03089
YHETENEMNFE 03099-50
EE X Z 03099

© norelem www.norelem.com



03090_A NHE XA FMPUREE |, HERROLEF

®
s
-0
3 REER ([0
| SWi1 :
32 | |
| .
19 |
W D35
o]
—— I
) —<|—| --------- | @
A
At
03090-8105 W 2 A [31,7]41,7[179]129|5 M10x1 51|39 [17 7 15| 13 1,3 5 12
03090-8206 Ml 26 A [316[417]17,9/129]|6 M12x1,5 | 6 | 44 [20 8 17| 14 1,8 6 14
03090-8308 M Z26 A |555/67,8/26,9(19,4|8 M16x1,5 | 8 |56,9(26 1023| 19 | 2,3 15 35
03090-8410 M 2@ A |53,4|67,8/26,9(19,4|10 M20x1,5 |10|62,9(28 1225 22 | 2.8 15 34
03090-8105154 | &l 4t RAL3020 | A [31,7|41,7|/17,9[129|5 M10x1 | 5| 39 [17 7 15 13 1,3 5 12
03090-8206154 | fW#&l 4 RAL3020 | A [31,6/41,7/179(129|6 M12x1,5 | 6 | 44 [20 8 17| 14 1,8 6 14
03090-8308154 | ##| 4t RAL3020 | A [555(67,8|/26,9(19,4|8 M16x1,5 | 8 |56,9(26 1023] 19 | 2,3 15 35
03090-8410154 | ##| 4 RAL3020 | A [53,4(67,8|26,9(19,4 |10 M20x1,5 [10|62,9(28 12 25| 22 | 2,8 15 34
03090-18105 T 26 A [31,7]417/179(129]|5 M10x1 | 5| 39 [17 7 15 13 1,3 5 12
BN
03090-18206 x 2@ A[316[41,7/179(129]6 M12x1,5 | 6 | 44 [20 8 17| 14 1,8 6 14
HN
03090-18308 x 2@ A |555/67,8/26,9/19,4|8 M16x1,5 | 8 |56,9(26 1023| 19 | 2,3 15 35
]
03090-18410 x Z26 A |53,4]67,8(/26,9(19,4(10 M20x1,5 [10[62,9(28 1225 22 | 2,8 15 34
BN
03090-18105154 N I RAL3020 | A [31,7]41,7[179(12,9|5 M10x1 | 5 | 39 [17 7 15| 13 1,3 5 12
N
03090-18206154 N I RAL3020 | A [31,6(41,7[179/12,9|6 M12x1,5 | 6 | 44 |20 8 17| 14 1,8 6 14
&N
03090-18308154 = 41 RAL3020 | A [55,5|67,8(26,9/19,4|8 M16x1,5 | 8 |56,9(26 1023| 19 | 23 15 35
3]
03090-18410154 = 41 RAL3020 | A [53,4|67,8(26,9/19,4(10 M20x1,5 [10]62,9(28 1225] 22 | 28 15 34
HiN

© norelem www.norelem.com




